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" Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
_For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answet Sheet.

(20 marks)

1 40 000 + 6000 +200+ 5=

(1) 46 250
(2} 46 205
(3) 46 025
{4) 40 625
2 Which of the following is a common multiple of 6 and 97
¢} 15
{2) 18
(3) 24
4) 27

1
3 Which fraction is greater than > ?

M 3
@ %
@ 2
@ =

(Go on {o the next page}




Express% % as a decimal.

(0
(2)
(3)
(4)

50
0.5
0.05
0.005

A factory takes 2 days to produce 5 fables.

At the same rate, how many days will it take to produce 40 tables?

(1)
2)
3
4

10
16
20

How much water is in the container shown?

(N
2
- ®

(4)

200 mi
400 ml

500 ml

800 ml

BP-626
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James had $200. He spent $70 on a waliet.
What percentage of his money did he spend on the wallet?

)y 30%
2  35%
(3)  65%
() 70%

In the figure, how many of the five marked angles are more than 90°7

Q)
@
@
(4)

o O

What is the value of 18 - (4 + 8) + 3x 27

M 1
2) 10
(3 186
4 4

(Go on to the next page)
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"The number of visitors to the Bird Park increased by 200 from Monday to Tuesday and
decreased by 800 from Tuesday to Wednesday. Which graph shows the number of
visitors at the Bird Park from Monday to Wednesday? _

Number \/
(1) of visitors

Mon Tue Wed

Number ’/\
@) of visitors
Mon Tue Wed
‘Number '
(3) of visitors
Mon Tue Wed
_Number /\
(4) of visitors

Mon Tue Wéd

(Go on to the next page)
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Which figure has the largest perimeter?

33

ﬁ:'

i

(1)
4
©)
(4)

In the triangle ABC below, £ CAB is 52°, find the value of £ x.

(N
2
@
(4}

U0 wrE

52°

38°
g7°
104°
128°

BP-~629
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14

15
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7

Mrs Tan baked a total of 60 pies and tarts in the morning. There were 3 times as many
pies as tarts. After 21 pies and some tarts were sold, there were 4 times as many pies as

tarts left. How many tarts were sold?

(1)
(2)
3
(4)

Li= T o - SR T & 2

5 boys were given 4 stamps each and 3 girls were given a total of 12 stamps.
What was the average number of stamps each child received?

M 7
@ 2
3 8
@ 4

David and Tom shared a packet of sweets. David received 15 more than %of the fotal

number of sweets. Tom received the remaining 25 sweets. How many sweets were there -
in the packet altogether?

(1) 16
(2) 40
(3). 64
(4) . 160

{Goonto Booklet B)
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Do not write

Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. o this spa
T =1

For questions which require units, give your answers in the iunits stated.

{5 marks)

16 - What is the missing number in the -nprﬁber_ pattern below?

75, 61, 47, 33,] 7

.5

Ans:

' 4- 2
17 Find the value of 5 X7

Ans:

{Go on to the next page)
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3
' Do not wrik

18 Find the value of 1 -—% -—% . i this sﬁgci_

Ans:
, 5 X
19 Express g as a decimal.

Ans:
20 Arrange these distances from the shortest to the lorigest.

[ 1.35km 1% km . ‘ikm305mJ

Ans. , ,

(shortest)

{fongest)

(Go on to the next page)
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4
Questions 21 to 30 carry 2 marks each. Show your working clearly and write ybur Do r?Ot write
answers in the space provided. For questions which require units, give your in this space
anhswers in the units stated. " (20 marks)
21 In the figure, AFC and BFD are straight lines. Find ZCFE.
B
48° .
A Cc
22°
E
D
Ans: °
22 6000 ml of water was poured irito 5 containers equally.
How many litres of water were there in one container?
Ans: f

(Go on to the next page}
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23 (a) Gopal listed the factors of 36 below. Do not write
in this space
1,2.3,4,6,18, 36

He missed out two factors. What were the two missing factors?

Ans: {(a)
(b) Write down ali the common factors of 20 and 32.
Ans: (b} _ |
24 The figure below is formed using 4 squares and 4 equilateral triangles.

The length of the straight line AB is 20 cm.
Find the perimeter of the figure.

L

Ans: N cm

{Go on to the next page)
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25 The graph shows the fare a taxi company charges for the first Do rgc}t write
10 kilometres. in this space
40 +
32
- Taxifare 24 + E _ | .y
163 . fu/
16 +
l
8 D
A &
o L—i : ¢ —

0 1. 2 3 4 5 6 7 8
Distance (km)

(a) How much is the taxi fare for the first kilometre?

Ans: (a) $

(b} Alan paid $20 for his taxi ide. What was the distance he travelled?

Ans: (b) _

ke

(Go on to the next page)
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26 The table below shows the local postage rates in Singapore. Do not write
in this space
Mass Step Cost
First30 g $0.30
Next50 g $0.50
Every additional 40 g or less $0.60
Mr Lim needs to send a parcel that weighs 138 g.
How much does he need {o pay?
Ans: $
27 Ken cut out three identical right-angled triangles. He joined them to

form a figure ABCD as shown below. CD =6 cm and AD = 5 cm.
The perimeter of the figure is 18 cm. Find the area of the figure ABCD.

Ans:

cm?

(Go on to the next page)
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In the figure, QTS and PTR are straight lines. PQ = QR = RS.

BP-638

Do not write

28
/PTS = 1159 and ZRST = 25°. Find ZPQT. in this space
Ans:
29 Three friends shared the total cost of 48 apples in the ratio 5: 2 1.-

What was the cost for the largest share?

Ans:$ ___

(Gb on to the next page)
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Mary had a new bottle of fish food. She feeds an equal amount of fish

food to her fishes each day. At the end of the 18" day, %‘ of the bottle
was left. At the end of the 19 day, the amount of food left was 200 g.

 What was the amount of fish food left in the bottle at the end of the 5%

day?

Ans:

BP-639

Do not write
in this space

END OF PAPER
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2
Questions 1 to 5 carry 2 marks each. Show your working clearly and write your Do not wiita
answers in the spaces provided. For questions which require units, give your in this space
answers in-the units stated. (10 marks}
1 The usual price of a watch was $780. During a sale, it was sold at 20%

discount. How much was the discount?

Ans:$ _

‘ 2 Daniel, Ivan and Sean shared 456 marbles in the ratio of 12 : 5: 2.
What was the total rumber of marbles Ivan and Sean had?

—
-

Ans:

{Go on to the next page)
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3 in the figure, VWXZ is a square. XYZ is an equilateral triangle. Dio not write
Find ZWZY. in this space

vV Z

Y
w X
Ans: 0
4 PQR is a triangle. Find the sum of angles &, b, ¢ and d.

Ans:

(Go on to the next page)
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Mr and Mrs Soh had different amounts of money. Do not write
_ in this space

Mr Soh gave % of his money to Abel.

Mrs Soh gave% of her money {o Betsy.

Fach of the statements below is either true, false or not possible to tell from
the information given. For each statement, put a tick (v') to indicate your
answer.

(8) | Abel and Betsy received 5 of the

total amount money Mr and Mrs
Soh had.

(b) | Abe! and Betsy received the same
: amount of money from Mr and Mrs
Soh.

{Go on to the next page)
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For questions to 8 fo 17, show your workings clearly and write your answers in the - Do not write
spaces provided. The number of marks available is shown in brackets [ ] at the in this space
end of each question or part-question. . (45 marks}
¢ Ali and Eva had the same amount of money at first.

Later on, Ali received another $550 and Eva spent $260,
Ali had 4 times as much money as Eva in the end.”
How much money did each of them have at first?

Ans; | (31 |1

(Goonto the pext page)



7

BP-645

8
John built the solid shown below. It is made up of & unit cubes. Do not viﬁte
in this space
(a)  Draw the top view {from the front) in the square grid. [1]
Top View
. \
Front View Side View

(b)  John placed the solid info the rectangular box as shown below.
Then, he packed the box full by adding more unit cubes.

5 units

4 ynits
7 units

VWhat is the smallest number of unit cubes that John added info
the box?

Ans: - 2]

(Go on to the next page)




Mrs Lim worked as a sales promoter from February to May.
The table below shows the number of pots she sold.

Month - Number of Pots Sold
Feb 58
Mar 47
Apr 69
May ?

A bonus is given to Mrs Lim if she sells an average of 75 of more pots for
any 3 months. What is the least number of pots that she must sell in May

to qualify for the bonus?

Ans:

BP~646

Do not write
in this space

(31

{(Go on to the next page)
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Customers who purchased a laptop at a computer fair received a free item Do not write
each. They could choose from a printer, a camera, a scanner, or a pair of inthis space
headphones. The bar graph below shows the choices. The bar for
customers who chose cameras is not shown,

80 —
) ey
g T
5 80
[
-
O a0 |
O .
&
: I
s | ~
=

0 .

Printer Camera Scanneér Headphones

(a} What is the ratio of the number of customers who chose printers to
the number of customers who chose scanners?
Give your answer in the simplest form.

Ans: (a) 1

{h) % of the customers chose the cameras as their free gifts.

How many customers chose cameras?
Do your working below and draw the bar in the graph to show the
number of customers who chose cameras.

Ans: {(b) . [2]

{Go on to the next page)
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_ T : Do not write.
Mary and Nancy had 540 stickers. Mary gave '—;‘- of her stickers to Nancy. ~ }in t!"r:is s\;a:; '
Then, Nancy gave 7 of her total number of stickers to Mary.

in the end, they had an equal number of stickers.
How many stickers did Mary give to Nancy?

L\ ]

(Go on to the next page)
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3 . Do nof write
11 A rectangular tank was & filled with water at first. Nathan poured some water | in this space

from the rectangular tank into a 26-cm cubical tank and filled it completely.

-

{a} How much water was left in the rectangular tank?

Ansi(a) A

(Go on to the next page)
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(b}  Then, he filled 12 identical bottles to the brim with water and poured
all the water from the 12 botties into the rectangular tank.
There was 31 litres of water in the rectangular tank in the end.
What is the capacity of each bottie? Give your answer in litres.

LU —

(Go on to the next page)
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4 . 3 . Do not write
12 At a concert, g of the audience were adults. of the children were boys. in this space

(a) What fraction of the audience were girls?

Ans: {a) _ i2]

(b) There were 350 more boys than girls.
How many people were there at the concert?

Ans: (b) — .12

(Go on to the next page)
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13
13 in the figure below, Point C is on line DE. LABE = 81° and ZBED =27°. Eﬂ;}:‘s‘;’g‘;
(@ Find £BCE
Ans: (a) , [2]
(b)  Find ZACD.
Ansc) [

(Go onto the next page)
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The total cost of a dress and a skiri was $239.
Mrs Chen wanted to buy the dress but she was short of $40.
In the end, she bought the skirt and had $25 left.

{a)  How much more did the dress cost than the skirt?

Ans: (a)

BP-~653

Do not write
in this space

(b}  How rauch money did Mrs Chen have at first?

Ans: (b)

12

{Go on to the next page)
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18 The figure below shows 2 overlapping identical squares in Rectangle WXYZ, | Donotwrite.
The area of Rectangle WXYZ is ?68 cmé. in this space

X

£ Y

{a) What fraction of the Rectangle WXYZ is unshaded?
Give your answer in the simplest form.

Ans: (8)

(b) What s the perimeter of the shaded part?

Ans: (b} | _ [3]

(Go on to the next page)
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" Amy had a number of 50-cent coins and 20-cent coins in the ratio of 5 : 4. Da not wiite

1 in this space
After she removed 3 of the 50-cent coins, the total number of coins was

reduced to 206,

{a) How many of each type of coins did Amy have in the end?

Ans: (@} 50-cent coins:

20-cent coins: _ 4

(b} What was the total value of the coins inthe end?.

Ans: () __ _  2

{Go on to the next page}
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17 Sunshine factory was required to prédtice. 2160 toys. :
The factory owned Machine A which produces 3 toys per minute.

{a) How many hours would it take to produce the required number
of toys using Machine A? )

Ans: (a) _ [2]

(b) .To shorten production time, Machine B was purchased.
It produces 7 toys every 3 minutes. With-Machine A and B being
used at the same time, how much time would the company save
to produce the same number of toys? Give your answer in hours.

A L) R — S—

[Do not write

BP-656

in this space

END OF PAPER
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2024 ECY Primary § Standard Mathematics

Anewer Koy
Papar 1 - Booklet A (20 marks)
[ Qusations 1 o 10 Guesticns 11 te 16
madcaech | 2marksanch |
Question Answer __Answer
T - z 11 4
5, z 1L §
3. 3 13, F
4, 4 BE7 N 4
[ 3 15. E1
6. 3
7 2
8 2
9. 2
0. 2
Paver 1 - Bookiet 028 maske)
Questions 16 to 20 — 1 mark sach
[Guesion]  Answer ; -
18 39
7. X Actapt Equivatant
“ .
18, 4 Accapt Enuivatent
18
8. 625 Method 1.
By fong divisian,
5+8 = 0,825
Mothod 2:
5, 63
§ ~ 3000
=826 < 1000
= (.B25
5 Srandace Msbumenics EVE 2024 ) _...... 1
Tkm #Em, | +.35 bm = 1360
. i‘?m’ 1§m=muum
§ 1 kv 305 m = 1305 1t
Guestions 24 to 30 =~ 2 marks each
Qns | Answer
EIRE e &
: .} ZDFE = 48°-22¢
- o=
| ZBFC = 180%- 48% = 132¢
ZCFE = 180° 132~ 22°
=267
LEELE Eeihod T
Vol in each container
=800 mi+ 5
= 1200 m}
=12¢
Mathod 2
E00Mi=61
Violurtre in each vontainsr
=815
=f¥;2¢
"GZ3 [w) B, 92 (8 Faclors of 38 = 1, 4, 5,4, 8, 9, 12, 18, 38
byt 24 Misging faclor = 8 and 12
(W) Faciore of 20 =1, 2, 4.5, 10,20 [
Common laclors =1, 2, 4
24 (100 Dermeler = 20 ol X 5
= 400 om
"G [y % ez off graph given.
e

PR Stnod an Malharradics EYE 2004 2 &
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I
Qns | Answer

Q2B 12 Amount that he has (o pay
= §0.50 + 30,50 + $0.60 + $0.60
= 32,00

Q27 |18 AB =18 cm-Gom-Scmw-3oem

= 4 om

‘Areaoﬂ triangle

= %xt&emxscm

=6.om® o

Area of fgure (3 congruent friangles)
_ﬂﬁanORsx%xtiwnxscm
= {8 em?

28 75 Mgthod 1 .
ZORT = 180°- 116> 25°
BT -
LPOT = 180°- 40P~ 40 25°
=78

Mathed 2

LART = 180°%- 115°-25°
= 40P

LQTP =180P« 115
=g

ZPAT = 180°- 4065
=76 ——A1

&2¢ |25 Muthad 1
48 apples > $10x 4= $0
8u = $40
u=%5
Su=%5x5

:525
Melhgd 2
fu=48+ 8 =t applas
6 apples > §10 « 2= §5
Su=%56x5

= $25

P8 Starnrd Matisatios BYE 2024 3

Girts

Answer

Q30

1808 % af boiﬁe -» 18 days

erf hattle > 3 days

Yhole Botle = 3% 7 = 21 datys

2 days > 200 g

1 day < 100 g

&% day > Sx 100 g = 5009

21 days = 2100

Amcant left = 2100g - 500g

=1600 g

Or ’

29-5=18

16days-y =16x100g
T =1600 g

siee  |MefedT
: Discount amout

. =%%'x$780 or 5{1’:60 220
=$156 '
Misigiod 2
00% - — 780
80
80% — pg * $780
= $624 (discourted price}

Diseount antount = $780 — $624
= 51566 .

)

BP-~658



168

D I [ Total :{1+§

12 [: |5 jte 7

288 ):|120

e

: 1 456 168

o

Method 4;

TomREnUMber of marbizs hat van and Seon had
=120 +46

=448

Method 2;

19u = 456
456

Ty = 19 x_?

=168

108"

ZWZX = {180° — 90%) + 2
=45

ZWZY = 45° + B0*°
= 4108°

208°

Method 1; .
Lat b+ Lo+ L
=2x180°~ 2% 31°
= 248

Msthod 21

La+ b+ Lo+ 2l
= (180" 31%) = 2

= 288°

{a) False

b} Wot
possibla to fall

(@ | Abe: anc veisy naa 2 or the

total amount money Mr and
Mtz Chong had.

(b} | Abel and Beisy racewved the
same amaount of money from
Mr anzd Mrs Soh.

3

was different. FALSE. .

(b} 3 possible scenarios, NOT POSSBLE TOTELL

Explanas . .
{a} Fractions capmot be added as the set of mtney Mr ond Mrs Soh had

Boshario 1 2 . 3
- #r Soh had more #r Sof had
(extiude Sceraie 1} | than Mrs Soh
- o Example C
Exarpie |81 |82 || ¥r Sof -2t
MrSoh {du |Bu M‘s.s“’h'@
Mirs Soh 26 | 2u )
B1:%xau='%u %x2u=%u

_ tezdwausou

Bty 1lxau=1u Bizdcoustu | Lxdu=zu

Statement | Trus False False

BP-659




Q6 to 17 {46 marks)

ans

Answer

8,

$530

A 3

3u = 3260 + $550
=4$810 .
1 unit = $810 = 3 = 5270
Amount of money each of then had at first
= 4270 + $260
= $530

Method 2:
1u+550=4p

1 260=1p
4u—1040=4p

4y~ 1040 = 1u + 550
Au=1580
fu=1580+3
=530 '
Amount of money sach of them had at first = $530

{#) Sec
shaded figure
on the right

(bj131

(a)

{b) Totai number of unit cubes in box
=7%x4x8 :
= 140
Least number of cubes that John added
=140-9
=131

-

Method 1

Total number of pots

=75 x3 .

=225

Least number of pots sold in May
= 225 - (58 + @6) '

=38

Meiho 2
Number of pots short in Feb
=75-58
=17
Number of pots short in Apr
=75-68
=6
Least number of pois needed fo get bonus
=758+17+48
= 28

BP-~660



9 [{a)7:3 L(a} Raio = 5624
=73
72 (b} Methiod 1

% of customers

=56+24 + 40
=120

kS

B of customers
=72

it

Method 2

g' of customars
=14y + 60+ 10u
= 30t i

-g' of customers

=18u
' 18u=18x4
=72
£ u
Z
::3 60
“ 40
g 20
»]
3
P5Standand Wethomaticr EYE 2024 g
10. [ 120 Mo of sickers each has ¥t the énd
=550+2
=370
Ms.-;.fmmum gave io Nancy
=800« 180 o B8~ 240
=420
Mathad J;
2 w0 beary's stckors abfrst
« 70 (20T + 3}
= 18Q
No. of stickers given 1o Nancy
ABD
= 3 w2
=16 )
: -2
M. of stickers Manoy hadt after Sdary gove her 5 of fer noney
=E;—’ xh
=360
a
T ofbéary's sickars of frst 2
5
=540 20 ther g of har money
~18G
Mo. of shiciners givers (o Nancy
186
=% x2
=126
PS5 Blarxderd WaCuenains EVE 254 1w
= 540 — 360
= 160
No. of stickers given to Nancy
piit]
=75 %2
=120

P5 Standard Malhetaalis EYE 224 10 5
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(18u)

18u =540
au =g x4

=120
Mary gave Nancy 120 stickers,

. [ @ (@) Val. of waker n tark at arst
3
:;;:g:;; =%x50cmxzacmxmcm

17.2¢8 = 25 200 cm?

Vol. of cubical tank
=20 om x 20 am x 20 om
= 8000 cm®

{b) 1.16€ Volume of water leff in rect tank
= 25 200 cm® - BOQ0 e
=17 200 em®[ 17 200 mh F47.2 €

{ty Volume of 12 bofilss
w 31 A7 28
=13.6¢
Capacity of each bottle
=13.80+12
=1{.15¢

12, -5 (a}

Methgd 1.
Eraction of audisnce whio are girte
= K%

i
4
-]

"3

B 8 M1
Fraction of aisdisnca who are girs

5
e

| P Steatart Mahergos EYE 2% 12 A
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Method 4

Fraction of boysmommangm
1.5 1 5
-2~x- QR €4"g} (4

5

18

2 of audience = 360
Al of audience = QS_QX 18

=1260

Methed 2
Total numbier of children = (350 <2y » 4
=700
Su =700
=700+ 5 =14
Bu=140x9
= 1286

=)
100 = 350
1 =350+10=35
36u =36 % 35
=1280

18 [{a) 132
b} 42

(@) CBE=87 -850
—-218
ZBCE = 180° - {27° + 217
= 132!

(b} ZBCD = 180° - 1327
= 48°
LACD = 80 - 487
=12

14,

(s)$65
(%112

(a} Monay ieft

Drass $40

$239

Skirt

J$25

Diffarance in cost of dress and skirt
= $40 + $26
=$65

®)

Methoed 1
Cost of skirt

= ($230 - $65) + 2
-$87
Amauntofmoneyatﬁm $67 + 525
" =312

A

' Guﬁafﬁre:ss

= {§230 + $65) + 2

= $152

Arnount of money at first = $152 - $40
=$112

BP-663




15. b 5
{a} iz (a) iz
{b) 86 om
)
Method 1 _
Aréa of each small square
=768 cm?= 12 '
=64 cm®
8 cm x B om = 64 omp?
Length of 1 side of square =8 cm
Perimeter of shaded figure = 12 x  om
=06 ¢m
Method 2
Area of shaded figure
e 2
= 12 X 768 Gm
= 448 cm? .
Area of 1 big square
= % x 448 cm?
= 256 om?
16 ¢m x 16 cm = 258 cm?
Length of 1 side of square = 16 om
Perimeter of the shaded figure =6 x 16cm
=96 ot
16. | {a) 60-cent (&)
coins: 80 50-cent : 20C-cent
20-cent coirs coings
wivcizs | L .
(b} 39650 Aier 25 4
Mefod 2
Befors 5 4
10 8
After 5 8
2.5u +4u =208
tu =208 +6.5
: -3z -
No. of 50-comt coing = 2.5u
=265x32
= B0
Ne. of 20.cent colns = du
=4x32
w478
Method 2
Su+Bu=208
1Tu =208+13 |
=16
No. of 50-centcoing = 5u
j =5%16
i - 80
No. of 20-cent coins = Bu
=Bx18
=128
(b}
Total value of coins
= (80 x $0.50) + (126 x $0.20)
= $40 + $25.60
= $65.60
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{7, ({aMi2h {a}

4 Wiethod §:
@) &gh 1 min ¥ 3 toys
GO min - BO x Jioys

=180 oys

No. of hows taken by BMachine A
= 2466 - 180
= 12 hotis

Method 3

3 {oys > 1 min

2150 foys ¥ (2160 + 3} it

: ~ 720 imin
=12 hours

by

Hiathod 1,

Kachina B:

3 min 2 T ioys

B0 mn - 7 toys X 20
=140 toys

Total number of tays in 1 hour by Machines A &3
=180+ 140

=30

1h > 530 toys

Totad titne teken by Machines A& B
= 2450 = 32D

“6% hous

No., of houre savad
=-12haurs-—6§hows.

= s%ha'urs’

5 Slindars Mtimmatics €13 224 17

Method 2

Total nie. of toys produced every 3 min
=7+9

=16 toys

Machine A and B used at same time
2160 + 16 '

= 136 gels

Total time taken by Machines A & B
=135 x 3 min

=405 min

_ a3
= 62- h
No. of hours saved

= 12 hours - 6% hours

_el
= 54 hours
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